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PO3HUYHbIW MPANC-TUCT

asryct 2022 rop,
+7 3012 444-777 r. Ynan-Ypa, yn. NMonurow, 20
+7 3012 39-00-56 Appec: r. Ynan-yas, yn. AsTomobunucros, 48
+7 3012 39-00-54 r. Ynan-Yps, yn. UsonruHckas, 14a, nas.17
COCHA
EBpoBaroHka
LieHa 3a 1 M’ (py6.) LieHa 3a 1 m° (py6.)
TonwmHa, mm | WupuHa, mm OnvHa, mm Copt 0 Copt 1 Copt 2 Copt 3 CopT 4 Copt 0 Copt 1 Copt 2 Copt 3 CopT 4
13 110 3900 = 950,00 900,00 800,00 700,00 = 73 076,92 69 230,77 61 538,46 53 846,15
13 130 3900 - 950,00 850,00 800,00 750,00 - 73 076,92 65 384,62 61 538,46 57 692,31
MmuTaums bpyca
LieHa 3a 1 m* (py6.) LeHa 3a 1 m® (py6.)
TonawmHa, mm | WnpuHa, mm & OaviHa, mm Copt 0 Copt 1 Copt 2 | Copt 3 CopT 4 Copt 0 Copt1 Copt 2 | Copt 3 CopT 4
20 140 / 3900 = 1200,00 1 050,00 800,00 = 60 000,00 52 500,00 40 000,00
20 170 3900 - 1200,00 1 050,00 800,00 - 60 000,00 52 500,00 40 000,00
Jocka nona
= LeHa 3a 1 m> (py6.) LeHa 3a 1 m (py6.)
TonwmHa, mm | WnpuHa, mm ~ .'“‘-‘-‘. OnvHa, mm Copt 0 Copt 1 Coprt 2 Copt 3 Copt 4 Copt 0 Copt1 Coprt 2 Copt 3 Copt 4
30 130 3900( 2 000,00 1700,00 1500,00 1400,00 1100,00 66 666,67 56 666,67 50 000,00 46 666,67 36 666,67
30 160 3900( 2 000,00 1700,00 1500,00 1400,00 1100,00 66 666,67 56 666,67 50 000,00 46 666,67 36 666,67
Bpycok KannbposaHHbIN
LleHa 3a 1 noroHHbIi meTp (py6.) LeHa 3a 1 m® (py6.)
TonwmHa, mm | WnpuHa, mm // = OnvHa, mm Copt 0 Copt 1 Coprt 2 I Copt 3 Copt 4 Copt 0 Copt1 Coprt 2 | Copt 3 Copt 4
45 95 4000 = = 180,00 = = - 41 760,00 -
30 60 2000 - - 39,00 - - - 21 600,00 -
48 48 4000 = = 98,00 = = = 42 336,00 =
Bpycok cyxoi
LieHa 3a 1 noroHHbI meTp (py6.) LeHa 3a 1 m (py6.)
TonwmHa, mm | WnpuHa, mm OnviHa, mm Copt 0 Copt 1 Copt 2 ] Copt 3 Copt 4 Copt 0 Copt 1 Copt 2 | Copt 3 Copt 4
25 50 2000 - - 32,00 - - - 25 600,00 -
50 100 4000 = = 150,00 = = = 30 000,00 =
50 50 4000 - - 82,00 - - - 26 900,00 -
CronapHasa Aocka
LeHa 3a 1 m° (py6.) LeHa 3a 1 m° (py6.)
TonwwmHa, mm | WnpuHa, mm . OnvHa, mm Copt 0 Copt 1 Coprt 2 Copt 3 CopT 4 Copt 0 Copt1 Copt 2 | Copt 3 Copt 4
52|pasHan =Y 4000 - - - - - - - 21 500,00 -
42|pa3Hasn 4000 21 500,00
HannuHmk
LieHa 3a 1 noroHHbIN meTp (py6.) LeHa 3a 1 m° (py6.)
TonwmHa, mm | WnpuHa, mm OnvHa, mm Copt 0 Copr 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt1 Copt 2 Copt 3 Copt4
12 80 - 2200 115,00 = = = o 65 780,00 = o = =
12 100 - 2200 144,00 - - - - 65 894,00 - - - -

MpuTBOPHAA NiaHKa

LleHa 3a

1 NoroHHbI meTp (py6.)

LeHa 3a 1 m (py6.)

33 000,00

42 000,00



TonwmHa, mm | WnpuHa, mm \ OnvHa, mm Copt 0 Copr 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt1 Copt 2 Copt 3 Copt4
10 40 2500 42,00 - - - - 65 625,00 - - - -
Yronok
LleHa 3a 1 wr (py6.) LeHa 3a 1 m (py6.)
TonwmHa, mm | WupuHa, mm OnvHa, mm Copt 0 Copt 1 Copt 2 Copt 3 CopT 4 Copt 0 Copt 1 Copt 2 Copt 3 CopT 4
50 50 A 2500 210,00 - - - - 38 220,00 - - - -
40 40 2500 188,00 - - - - 47 000,00 - - - -
30 30 2500 150,00 - - - - 66 600,00 - - - -
MNanHTyC
LieHa 3a 1 noroHHbIN meTp (py6.) LeHa 3a 1 m (py6.)
TonwwmHa, mm | Wnpuxa, mm [nnHa, mm Copt 0 Coprt 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt 1 Copt 2 Copt 3 Copt 4
18 42 2500 45,00 - - - - 148 725,00 - - - -
18 35 2500 60,00 = = = = 95 250,00 = = = =
18 30 2500 32,00 - - - - 59 200,00 - - - -
JINCTBEHHUUA
TeppacHaa Aocka
UeHa 3a 1 m’ (py6.) UeHa 3a 1 m (py6.)
TonwwmHa, mm | Wnpuxa, mm [nnHa, mm Copt 0 Coprt 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt 1 Copt 2 Copt 3 Copt 4
25 135 4000 - - 1 600,00 1200,00 - - 64 000,00 48 000,00
MnaHkeH
F LieHa 3a 1 m* (py6.) Liena 3a 1 m® (py6.)
TonwmHa, mm | WnpuHa, mm 1 OnnHa, mm Copt 0 Copt 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt1 Copt 2 Copt 3 Copt 4
12 160 - 4000 = = 1200,00 = = = 100 000,00 =
Many6Hasa gocka
LeHa 3a 1 m? (py6.) LeHa 3a 1 m (py6.)
TonwmHa, mm | Wnpuxa, mm [nnHa, mm Copt 0 Coprt 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt 1 Copt 2 Copt 3 Copt 4
30 130 Sy —— 3900 - 1700,00 1 600,00 1400,00 1200,00 56 666,67 53 333,33 46 666,67 40 000,00
30 170 3900 = = = = = = = = = =
Jocka nona
) 2 LeHa 3a 1 m? (py6.) LeHa 3a 1 m (py6.)
TonwmHa, mm | WnpuHa, mm ——— 5 OnvHa, mm Copt 0 Copt 1 Coprt 2 | Copt 3 CopT 4 Copt 0 Copt1 Copt 2 Copt 3 Copt 4
30 130 sid 3900 = = 1 500,00 1200,00 = = 50 000,00 40 000,00
30 170 3900 - - 1500,00 1200,00 - - 50 000,00 40 000,00
OCUHA
EBpoBaroHka
LeHa 3a 1 m? (py6.) LeHa 3a 1 m (py6.)
TonwmHa, mm | WnpuHa, mm OnviHa, mm Copt 0 Copt 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt 1 Copt 2 Copt 3 Copt 4
13 110 3900( 1 300,00 1200,00 800,00 600,00 350,00 100 000,00 92 307,69 61 538,46 46 153,85 26 923,08
Monok
. LleHa 3a 1 n.m. (py6.) LeHa 3a 1 m (py6.)
TonwmHa, mm | WupuHa, mm \, [nnHa, mm Copt 0 Coprt 1 Copt 2 Copt 3 Copt 4 Copt 0 Copt 1 Coprt 2 Copt 3 CopT 4
35 140 3900 420,00 350,00 280,00 240,00 145,00 84 840,00 70 700,00 56 560,00 48 430,00 29 290,00
35 90 3900 300,00 250,00 200,00 170,00 100,00 96 000,00 80 000,00 64 000,00 54 400,00 32 000,00




